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Section—-A 1 each
Note = O Nos. 1 10 18 are very short answer type questions of | mark
cach,
I. If you are not able 1o read small letters in a dictionary, which of the
following lenses would you prefer 1o use ?
(A) A convex lens of focal length 50 c¢m
(B) A concave lens of focal length 50 ¢m

/8) A convex lens of focal length 5 ¢cm

(D) A concave lens of focal length 5 cm
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2 Which ol the lollowig statements is correct regarding the propagation
of hight ol differem colours of white ltght in air 7

'A Red light moves fastest

(B) Blue light moves faster
(®

4 Yellow E|_'-,‘h[ maoves

than green light

with the mean speed as that of the red and
the viole lht

(7 Al the colours of the white lhight move with the same speed

ad

The focal lunj:'lh of

a concave lens s 100 cm. Caleulate its power
in dioplres

o 1D

By 05.0
‘ iy 2D
i 02 D

Three resistors having resistances of 2 Q.4 Q and 8 O are connected

in parallel. Their equivalent resistance will be -

10 €)
e 14 ()
uw, 87 Q

(1) Between 2 {2 and 8§ ()
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current carymg conductor, we use

dX) A .
m r " .
pere’s SWimming pyle

(B) Fleming's nght hand e
() Fleming's left hand yle
(D) Maxwell's nght hand myle

“f " * l,h ‘l“ 1 \Illilll ll!l'

(1)  lonisation
(1)  Neutralisation
(i) Dilution
(iv) Salt formation
(A) (1) and (i)
JSBT (i) and (i)
(C) (i) and (i)
(D) (ii) and (iv)
7. 4Na(s) + O4(g) — 2Na,O(s)
In the above reaction :
(A) Sodium gets reduced
(B) Sodium oxide gets reduced
(C) Sodium oxide gets oxidised

(B7 Sodium gets oxidised
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8. Which among the following compounds has {0 covalent bonds

{A) Ethane

B Propane

(C)} Buiane
(D) Pemiane
9. Which of the following pairs will give displacement reactions
(A1 NaCl soluton and copper metal
/M MgCl, solution and aluminium metal
(C) FeSO, solution and stlver metal
(D1 AgNQ; solution and copper metal

10. The image formed by a concave mirror 1s observed to be virtual.

crect and magnified. Where should be the position of the object ?

(A) Between the principal focus and the centre of curvature
(B) A1 the centre of curvalure
(C) At infinity

JD{Bclu'ccn pole and principal focus
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I'nllnv.'l'nn' les

oy .1I(} 1L‘. S ’ <

= Propertie, of .llumlmum are responsible for th !
b ¢ same

|1 - N

( Good thrmuI cunduc[i\‘iw

(1) Good electricg] conductivity

(ii1) Ductility

(iv) High melting point
(A) (i) and (i)

(B) (i) and (iii)

(C} (ii) and (iii)

AT (i) and (iv)

12. Which of the following is the correct sequence regarding sexual

reproduction in a flowering plant ?

(A) Pollination, fertilization, seedling. embryo

(B) Seedling, embryo, fertilization. pollination
(E‘{l;ollination. ‘fertilization, embryo, seedling
(D) Embryo, seedling, pollination, fertilization
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i3 After fenilization which of the following pans develops 1o seed -

{A) Ovary

(B) Ovule

Cy Pollen grain

mrlgma

14 In natural ecosystem, decomposers include :

(A) All microscopic Ofganisms
(B) Bacteria and fungi

(C) Only bactena

M Only fungi
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15, Involuntary actions in (he body gre controlled by .
(A) Medulla ip forebrain
(B Medulla in midbrain
M Medulla in hindbrain
(D) Medulla in sping cord
Note = From Q. Nos. 16 to 18. two sttements (Assertion-A and
Reason-R) are given. Select the correct answer 1o these questions
from the codes A. B. C and D as given below :
Codes :
'lp (A} A and R are true and R is the correct explanation of A.
(B) Both A and R are true but R is not the correct explanation
of A,
(C) A is true bu-t R is false. 19
(D) A is false but R is true.
10m"ARM(SZ)IKUT2024—1005-Y Turn Over
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16. Assertion (A)

Reason (R)

17. Assertion (A)

Reason (R)

18. Assertion (A)

Reason (R)

-

L

LI

When the direction of current 1n & current <arrying

i is ards. the direction of
straight conductor 15 upwar

magnetic field lines 15 clockwi

To find the direction of magnetic field lines, we

use Maxwell's Right hand rule.

Vagina acts as copulation canal and tertithzation
canal.

Both insemination and fusion of gametes occur in
vagina.

Decomposers are micro-consumers.

They bring mineralisation of decomposed matter.

Section-B 5 each

Note :~ There will be fen questions in this Section (Q. Nos. 19 to 28)

each of 2 marks. ’

IQ/ Write the formula of cyclopentane and draw

structure.

.

its electron dot
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write the hulunccd
Chemig

Squyt; .
eaclions uation  fo the following chemical

) Banum Chloride
+ -
Aluminiym Sulphate — Barium sulphate

+ Aluminium chlonde
a1 Zine carbonate .
| fate - Ling OXide + Carbon dioxide

Draw the pattem o . :
£ magnetic field lines around a current carrying

_\U!L‘I]ﬂid.

'y 't the resistance of ; , _ _
22 Let the resistance of an electrical component remains constant while
the potential difference across the two ends of the component

decreases 1o half of its former value. What change will occur in the
current through it ?

We cannot read a printed page by holding it very close 1o our eye.

Why 7

What happens to the image distance in the eye when we increase the

- y
distance of an object from the eye

What would you observe when zinc is added to a solution of

lron (1) sulphate ? Write the chemical reaction that takes place.
) 5 { ;

Turn Over
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altected when eXcesy

26. How is the concentration of hyvdroxide ons
d|'u\ltl&‘

base is dissolved in a solution of sodium hy
think a farmer would treat the

27. Under what soil condiions do you

soil of his fields with quick lime {calcum oxide) or sluked lime
(calcium hydroxide) or chalk (calcium carbonate) 7
,{'HOW does our body respond when adrenaline is secreted into the

blood ?

Section-C 3 each

Note :- In this Section from Q. Nos. 29 to 37. there will be nine

questions with intemal choice. each of 3 marks.

2{ ¢ The potential difference between the terminals of an electric heater is

60 V when it draws a current of 4 A from the source. What current

will the heater draw tf the potental difference is increased o 120 V?
Or
An electric iron of resistance 20 Q takes a current of $ A. Calculate

the heat developed in 30 seconds.
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o Define Magnegig Fielg,

-1t uny h'Il‘p(,. . i _ ~
Pources of magnetic hicld

Or

What 1S an  Elegyy

" Omagnpe; -

snet State any rtwo points of difference
helWeen an electromagnet

an
d a Permanent magnet.

« o Differentiate between L
, Combination ang decomposition reactions with

the help of examples,

Or

= re—

What 1s a balanced chemical equation ? Why should chemical

cyuations be balanced ? https://www.jkboseonline.com

.. [hfferentiate between minerals and ores with the help ol examples.

Or

In an electrolytic refining of a metal M, wha_t would you take as the

/ 9
inode, the cathode and the electroiyte -

b . Turn Over
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. - - T‘ l,‘._i,fﬂ'l'..""_"h‘i_"lﬂ in
. deficiency © glob
3-"‘“ What would be [hL’ Cl)nSEqUﬂﬂCCb of a clie

our bodies 7!

or

onhic and heterotrophie
Give the points of difference between autotrophic i P

nutrition.
) . , .+ ajvinge Insulin  1mjections.
34.JSome diabetic patients are treated by giving
Why ?

Or

Which animal or plant hormone is associated with the following ?

(i) Develop secondary sexual characters at puberty in boys.
(i) Inhibits growth of plants
(ii1) Goiue

?ﬁ"-smmamsznxunom—wos-v
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llm I
b ace aunng

the Il'litltllc of th
<

menstry
u‘ C i

Or

GIve easons (or the foll
OWing .

1) Petals of
lowers are variously col
sly coloured

ai) Some plants are pr
propagated only by vegetative methods

o

;g -Will t_*r:uomphical i ’
A A = 1solatio ' 3
l n be a major factor n the spcciuimn of 2

self-pollinating plant species 7 Why or why not )

Or

Why are traits acquired during the life-time of an individual not

inherited ?
37. » How can you help in reducing the problem of waste disposal local

level 7 Give any W0 methods.

Turn Qver
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(O

What e the problems caused by the non-bindegradable wastes that

we generate

Section=D 5 each
Newe = In s Section fom Q. Nos 38 1o 40, there will be three long

answer tpe questions with mternal chowee, each of 5 marks,

A8 Draw a vy dagram o ocach of the following cases to show the

formanon of image when the object 1s placed :

(1) Between centre of curvamre and pnncipal focus of a concave

im) At the focus of a concave murror

() Between focus and pole of the concave mirror
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Or

bec : .
\it object of size 7.0 ¢m is placed at 27 cm in front of a concave

) y ) '
muror of focal length 18 c¢cm. At what distance from the mitror
should a screen be placed, so that a sharp focused image can be

obtained ? Find the size and the nature of the image.
.3”-‘ Draw the structures for the following compounds :

(1) Bromopentane

(11) Hexanal

(ii1) Propene

(iv) 2. 3-dimethyl butanc

(v) 2-Propanol
Or

, Explain the following reactions with examples :

(1) Combustion reaction

(i1) Substitution reaction

Turn Over
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407 Describe the structure and funcuoning of nephron.

Or
Describe transport of the following materials in plants :
(i) Water
(ii) Minerals

(1i1) Food
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